. VCE & PDF https://www.pass4itsure.com/a2160-669.html
g 2024 Latest passditsure A2160-669 PDF and VCE dumps Download

PassditSure.com

A2160-669°¢AS

Assessment: SOA Fundamentals [2008]

Pass IBM A2160-669 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/a2160-669.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

A2160-669 PDF Dumps | A2160-669 Exam Questions | A2160-669 Braindumps 1/3


https://www.pass4itsure.com/a2160-669.html
https://www.pass4itsure.com/a2160-669.html
https://www.pass4itsure.com/a2160-669.html

VCE & PDF https://www.pass4itsure.com/a2160-669.html
a 2024 Latest passditsure A2160-669 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Failure to adopt SOA will result in which outcome?

A. Automation of document processing will be difficult.

B. Extremely high volume, synchronous, real-time transactions will occur.

C. Integration costs continue to grow without being offset by new business opportunities.

D. IT budget will increase to cover the cost of additional governance and development activities.

Correct Answer: C

QUESTION 2

Which might cause a challenge to prioritizing, defining and funding services in SOA?
A. Services that support multiple projects and/or lines of business

B. Services that need to consider non-disruptive roll-out of changes

C. Services that are based on standards to allow for interoperability

D. Service requesters that are independent of the service implementation

Correct Answer: A

QUESTION 3

Which is an architectural characteristic of SOA?

A. An emphasis on standards

B. Utilizing Web services to access all business functionality

C. An Enterprise Service Bus (ESB) with an emphasis on Web services
D. An Enterprise Service Bus (ESB) with an emphasis on XML messaging

Correct Answer: A

QUESTION 4
Which people, organizational or technology factors would limit an organization\\'s readiness for
SOA?

A. Skills not available
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B. Standardization of services in each industry
C. Tight integration with their business partners
D. Frequent inspection of the current business model and its components

Correct Answer: A

QUESTION 5

Which specifications are central to Web services?
A. WSDL and XML

B. ESB and WS-Policy

C. XML and XML Schema

D. SOAP, WSDL and HTTP

Correct Answer: A
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